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An equiconvex lens is cut in two ways as shown. The ratio of focal length of the parts L; and Ls as

mentioned in the diagram is

1 1
(1y2 (2) 4 (3) 5 (4) =

(3)
Waich Video Solution

A solencid of radius 1 em carrying current 0.29 A_ and having total number of tums 200 If magnetic field
inside solenoid is 2.9 x 10*T. Find the length of solenoid.
(1) 6z cm (2) Brem {3) 4.5x cm {4) 16 cm

(2)
Watch Video Solution

A capacitor of BuF is charged to 5V and after charging it is connected to another uncharged capacitor of
capacitance of 12uF. Then find the final charge on 12uF capacitor?

Co= 12,1!:

|
I
G+ = GuF
V=5V
(1) 20 puC (2) 80 uC {3) 75 uC {4) 90 pC

(1)
Waich Video Solution

Two particles of same mass are performing SHM vertically with two different spring of spring constant
k: and k=. If amplitude of both is same. Find ratio of the maximum speed of two particles.

k k [y +K
it £ — ik it
m“lHE (2) Vkik; (3) \Jh {4]\|k|—kg

(1)
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5. In e systern af logic gates. the truth table of output will e
A_ _'_tm__
=] s
B
A |B | Outpus A | B | Dutput
60| © olo| @
(1|0 |1 i (2] | o1 1
1| 1 110 1
141 i 111 o
A |B [ Output A [ B[ Cutpul
oo 1 g |0 i
mlofls] o 4 lof1] o
T |0 i 110 1
111 K 111 1
Ans. (2

Bal. Walch Video Solution

6. Malch the physical quantilias wih ther corresponding dimensions

Coluen — | Célurn = i

(A] Yaung's modules {i [AL7]

(E] Magness merment {il) [MLET-=A")
iC) Magnetic fux il (AL

(D) Magnatic intensity fiv] [ML-1T=2]

(1) A ofiil), B, © -»fi). D= aii)
(2} A ofiv), B wli). © - il O wlii)
(3) A sfiil), Boadl), ©afi). D-wliv)
(4} A - ofiil), B-adii), © 2. Dsliv)
Ans.  (2)
26l Walch Video Solufion

7. Focal length of lens is 24 e in ak, 18 complataly immersed in water ol reflective index 1.53. Focal kength
ol Ters ig chogen fo (refractive indes of lens s = 1.5)
(1) 24 em (2} 48 cm 13) 72 em (4} B8 cm

Ang.  {#)

=20d. Walch Video Solullion

8. An eleclromagnelic wave & propagaling along = « direclion. The direction ol elecin: held (€ ) and

magnetic lekd | B | shauld be along -

(1} E »iny directian, B » X direciion (21 E > x dwecihon, B - » y direclion
(3 E » xdrection, B » in y direciion [E1E »'y direcon, B o« x divecBon
Ans. (1)

=ol. ‘Walch Video Solullon
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Ans.
ool

: B}

° 25

Which ol (he fallowing i Yue aboul s100ping poteatial (where | i inlensty of Tght, V alopping potential
and 5. ie wavelength incident fight)

(1} I L increagas hen V increases

(2) 10 L increases fen V decleases

(3) 10 [ incresses then V decreases

(4} 1 | Increasas then V decreases

(2)
Watch Video Solution

Two pansts A & B revolve around s aiae incrcalar parhs of radiog M & Rp soch 8 Ay = 2H,. plansd
e

Bizd 2 fmas magsive than planet A Find the rafio of angulsr enomentun of glanst A o planst B, e
)2

1 1

(1) — =

4 ; 8

)
Walch Video Solulion

A avall shectic dipole is placed near an infinlaly large charged non-condisting shsat, a2 shown in e
Fguie. The dpoe can only rolate sbout its central s,

1 1
(4] s el "y

\

+ + +
T

\

Chaosa the correc alarmalive -
i1} Poleniisl endrgy of the syslem i minimum and net omue on he dpos s 2em.
(2} Polenlial enargy of the syslem is minimum and nel loigue on he dpoks = non-2em.

(3) Poterntial anergy of the sysiem = maximaem and the dipole will exparience & resultant lorce aands
ihe shaad,

(4} Polentiaf snergy ol the syslem is maximum and the dpole will axperiende a resullani loce away bram
ie Shesd,

(1)

Walch Video Solutian

Agsarlion @ Cn FICTEAnng e (= [—--110 R Thes polirmne decreass B mare in ol OCess than n an
adabalic process.

Reason : Adishalic procsss is gven by relation PV = constant and Tor isothermal rocess it is PV -
canslan

i1 Asserfion & correct and Aeason is lalse.

fE_I Asterfian 15 correc] and Flesson i corecl

(3] Assertion is lase and Feason is comect

(4} Asserfion is lase and Aesson is false.

2

Walch Video Solution
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13. A conweyor bell s moving with constan! spead v. sand is falling on the bel wilh the rate given by

% T 1.'? - Than be power Sugpled b he ball lo mose wilh constant speed will b2 proparional ba

[l|1.'|'l:~.|"; 12) (F s A poaw 1) 7
Ans.  (2)
Sol. Watch Video Solution

14.  Acup ol hot cofles is placed in environmenl of 20°C 1% lemperature (sl lrom 90°C 1o B0°C in lime 1.
The lirme tzken in which [he lemperalure (8B rom BOPC bo 60°C will be.
13 13 i2 17
1} —=1 Ly =y T
g (2} g (3) = Ly S
Ang.  {2)
Sol.  Walch Video Salution

15.  The elestric Mux linked with 2 dosed suwtace is 2 « 108 V-m Calailste nel chamge endosed within the
surlace

(1) 1,77 mC (2] 278 mC {3} 1.97 mC {4} 1.57 mG

(1)

Walch Video Selution

£F

16.  Two parficles A and B starls moving rom & same poinl at | = 0. Acceleraton ol particle A incresses
linearky with lime as & = k1 and the acosherasion of parick B is non 2er0 constant. How many Gimes will
ey meet {incleding & 1= 0)

(1p1 2l 2 (33 (414

(2)

Walch Viden Solution

£ 7

17. Thress partiches of Seime MAassE sfe- moving & show. (&8 colisions are efasiic)

M M M

@ e By @. - @ —» Amiss
Fescemin: Adler all colligian . selocilies ol A, B & C are 4m's, Aisec Smsac respectively
Aeason : Velocly gel inferchanged in ebstic head-on collision lar Same mass.
(1] Asmetion  » Tiue, FAeston o« Tree
(2) Asmertian » False Fesson o« Tree
(3) Asmesion » True, Heason » False
(4] Asmestion » Fafsa, MAeason » False

(2)
Wateh Video Solution

£3
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18.  Figure shows two | 80 thermo curves for T = 500k and 450k, An ideal polvalomic gas & undergone
thiough & process A B » C, in which process A » B is an adiabatic. The heat given 10 the gas lar the
process A -+ B - C will be -
[Given hat Po =5 » 10°Pa, Vo= 6 » 107 m? and P = 3.75 « 10°Pa, Vo= 5 » 10 0
&P
=
¥ ‘4 4 5
(1)2001n | = | (E]EIIII.nl—ﬁl.l I.'.]jﬂ-DDt'l!—1.] 44:3mm:—].1
E_. |IE_| |_3. ||:1
Ans. {3
Sel.  Walch Videa Solution
19.  Figwe shows two sphencal surlaces of radius R each and having common centre C. i an abject is placed
a1 O, Find distance between the frs! images fonmed by both e surlaces indivicuaby.
i) i (2]
p=1.5 R p=is
R SR - Ty | [ -
&0
=i
=
4R 4R A 2R
{1} — 2] — 3 —= (N —
35 7 70 15
Ans. {1}
Sol.  Walch Video Solution
0. A circular plafe capacilor has constant curent 015 A Tiowing through il Potential dllerence across
capacitod wanes as 7 « 108 Viz. Find distance beiween [he two ciedar plates of capacitar, (Radug of
cimm&-1um=-3§|
i1} 1.28 em (2} 1.2% mm (3} 258 mm |43 2.58 em
Ans. (2}

Wabtch Video Soluthon



